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II. Write the equation of a parabola with the following transformations in Vertex Form.
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III. Werite in Vertex Form, state the vertex, and list all the transformations
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11. Use question #9 above to answer the following questioris:

Axis of Symmetry: X = 3 Vertex: ( 3 {L‘l 2 y — intercept: (O; “5J)
# of x-intetcepts: \2‘ Max ot Min? M Ax Second Difference: ___ 2

12. Use question #10 above to answer the following questions:

@ foxisof Spmimetoy: M : Vertex: ( | ) =3) ) y — intercept: ————( O} — 5)

# of x-intercepts: M Max or Min? M 9 Second_Difference: — “|
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V. Expand to write the Vertex Form equation in Standard Form.
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VI. Factor Completely
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